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Algebral 2007

1. Solve the equation for x: x(2x-9)-5=0

a) {£:5}
by {15
C) {%5"—5}
d) 53
¢) {31

2. Determine the slope and y-intercept of the line: 2x + 5y —25=0

a)  ~2(0,-5)
b)  £;(0,5)

c)  —2;(0,5)
d)  £(0,-5)
e)  -3;(0,5)

3. Simplify —7-2[-3-(4+x)-2]
a) 9x+ 8l
b) -9x + 81
c) 2x+13
d) 2x-11
e) 2x+25

4. Solve the system of equations:
4x~5y+13=0

2x+y=-3

a) (“2:])
b) (2,-1)
c) (-2,-1)
d) (2,1)
e) (2,-5)



Ox* —3x-2
3x-2

5. Divide:

a) 3x-2
b) 3x+2
c) 3x+1
d) 9x* +1
e) 9x*

x? -|-x—20;x2—6x+8
2x+10 xi4x-6

6. Simplify:

x+3
a) 5
b) 6

c)

d)

1
2{x+3)
x4
x=2

x+3
&

) x—2

7. At Burger Mart, two cheeseburgers and three orders of fries cost $5.20,
while one cheeseburger and two orders of fries cost $3.05. What would
be the cost of five cheeseburgers and four orders of fries?

a) $8.25
b) $10.40
¢) $6.10
d) $11.30
e} $9.85

8. Evaluate 2x° —=3x3° for x=-2 and y = —1
a) -2
b) 14
c)2
d}-14
e)S



9. Simplify the expression &é(lzxz ~9x = 3)

a) ~x+1

b) 4x*-3x-1
c) x-—1

d) -36x*+27x +9
e) - 4x’+3x + 1

}0.  Solve the equation 9x—6+5x~3=4
a) %
b) 5’1—
c) —%

13
d) "

e) L

14

11.  Find the value of x* +3x* + 7x at x = 2.
a) 42
b) 10
c) 18
d) 14
e) 34

12.  Factor 12x° — 14x -6 completely.
: a) (6x+2)2x-3)

b) 3x-1)(4x +6)

c) 2(3x+ D((2x~3)

d) 203x-1)2x+3)

¢} Prime

13. Write an equation for the line through the point (-2, 3) that is
perpendicular to the line with equation 2x-3y=9.

a) 2x -3y =-13

b) 3x+2y=0

C)3x+2y=12

d) 3x-2y=-12

e) —2x+3y=9



xt =16 ;x2~6x+8

14. 5 -
x+x-12 x -5x+6
=16
a
) x2-9
b) 1
¥ -8x+16
¢)
X —6x+9
d -1
x4
&
) x-3

15. For x=0, {/’J—c? o Yy =

a) e
SERE

c) x$x
d) { x°
e) x?

16.  Write an equation for the following: Ten less than the square of x is
equal to the square of the sum of twice x and 4.

a) Vx -10= V2x+4
b)  x*-10= (2x+4)
¢)  (x-10) = 2x*+4
d)  10-x" = 2(x+4)

e) x* =10 = 2x+4

17.  Simplify:  #162+°y"
a) 81’y ax’yS
b) 3y o’
c) 40xy m
d) 3y By
e) 40x°y \/—2—”)—3



18. A motorcycle traveling at 50 miles per hour overtakes a car traveling
at 30 miles per hour that had a three hour head start. How far from
the starting point are the two vehicles?

a) 4 1 miles
2

b) 72 miles
2
c) 225 miles
d) 561miles
4
2
26=
e) 3

2
19. Solvex—:fa-l
3 4 12

a) land-_
4
b) -1 and ~
4
0 g_j_mgllos

d) 1
e) no real solutions

20.  Simplify:  (2v6 - 3v2) (46 + 3V2)

a)  30-36v2
b) 3643

¢)  30-123
d 30

e) 183

21, The relationship between the years a car is owned and the book value
of the car is linear. If a new car is worth $22,000 at purchase and only
$10,000 in three years, what would the car be worth in five years?

a)  $15,333
b)  $10,000
¢)  $2,000

d)  $20,000

e) $0



22, Ifx<0andy <0, which of the following will always be less than 072
a) 2x+y
b) 5%’
c) Y —X
.3
) I
3
¢) (x-fy)h
23, Ifx—2is an odd integer, then which of the following is an even
integer?
a) X+ 6
b) x?
c) 4x+3
d) x+1
e) 3x
24.  What is the solution set of [7-2X1>57
a)  (-oo1)
b) (1,6)
c) (00, =1) U (~1,00)
d)  (~e0,1)u(6,)
e) ("6: -1 )
25, The width of a rectangular field is half its length. The area of the field
is 1800 square meters. What is the length of the field in meters?
a) 60
b) 180
c) 600
d) 30
e) 20
26.  The equation va+b =+ ++b is true whenever:
1
a) a = E
b) ab=0
¢) aand b are positive real numbers
d) a=b
e)

a+b=10



27. Solve forx: +2x+34+4=6

a) x=1

2
b) x ==
c) x=u1§7~
d)xm~%
e) xm%

28. Johnsonville is 70 miles due north of Park City. Georgetown is 90
miles due west of Johnsonville. How far is Park City from Georgetown in
miles?

a) /6300

b) V4900

¢) /25600

d) /8100

e) ~13000

29.  An accountant received a 5% raise over her previous year’s salary
plus a one-time bonus of $2000. If her income for the new year, including
the bonus, is $56,075, then what was her salary during the previous year?

a) $54,075

b) $51,271

¢) $51,371

d) $51,500

e) $51,405

30.  Simplify completely. ;_ — = (x#0,1,-1)
a) x
b)

c) -~
d) 1+~

e) 1+x



31. s the function Jf(£) =6t +4¢ +2¢

a) symmetric about the y-axis

b) symmetric about the origin

¢) a parabola

d) symmetric about the x-axis

e) symmetric about the line y = x

32. Letf(1)=2t*=3r+5 Find f(-1).

a) 20° -71+6

b) 46 —11r+12
c) 2t* -7t +10

d) 267 -5t 48 -5
e) 2r* -3t +4

33.  Solve the inequality: [2-3x/<8

a) x> -2
10
b) xs -2 and x2w3—
c) o<yl
3
d) x<-2
10
) x2z—
) 3

34, Which of the following polynomials has zeros of -2, 3, and 4?

a) x° +5x% - 2x—24
b) x* - 5x% - 2x + 24
c) x7 —9x% +26x 24
d) x* +9x* ~ 26x + 24
e) x’ ~2x” +3x+4



35.

36,

37.

3x-3  3x°

Perform the indicated operations and simplify.

x  4x—4

a) Ox® —9x*
4x* —4x
Ox

by =&

) 4
4

C N

) Ox

2..._

d) Ox* —-9x
4x -4
4x7 4 8x + 4

e) -

x

6 5 4
Divide and Simplify 125 —40x +20x

10x°
a) 5x — 50 + 12
X
b) L
2 X
7x
4
c) 5
3x-2
d) 2x
3x
e) ———4+2x
2
b4
Simplify ?_5;
2574
a) 1
by 25
c) 5
1
d) 3
e) L



38.

39.

40.

Four times the difference of a number and one is equal to six times the
sum of the number and three.  Find the number.

a) -7

b} 11

c) -2

d)y -11

e) 7

Simplify the expression —5+/50 + 54162 — 448
a) 1242

b) -4-220

c) 62

d) -542

e) -8+/55

Which one of the'foliowing is true?

a) Neither (~8)"* nor (—8)"/° represent real numbers
by Vat+y? =x+y

c) (-8)"=-2

d) 2]/2.2]f2 xz
¢) none of these



